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27.483554 and 30.034653 are rounded off to six significant figure, then they becomes

27.483554 932 30.034653 TATH 2T AF IRFAFE TATH AN TFT F9?

If U, =2n+1,then A2U, =?
IM U, =2n+ 1, WORE AU, = F6?

Error in Trapezoidal rule for integration is
STHPET (Fa FFSTCT J@d 316 Fo?

The number of positive roots of x* — 5x3 — 12x2 + 76x — 79 = 0 using Descartes' rule of sign is
(GHFTed T FfS AT x* — 5x3 — 12x2 + 76x — 79 = 0 WHFACEE TEF HARF
Jog T Fe?

Condition for parallelism of two non-zero vectors aand b is

Resultant of two simple hermonic motion with equal periodic time will have -

S SIS (78 9o T ST SIfoF 78 Fo?

Example of a convex set in two dimension is
fanfas O AF6 Soe (Ga SurRad 7

If r(Ab)> r(A), then the set of equations Ax=b have ........ No. of solutions.
% r(Ab)> r(A) T, O Ax=b TRIFIET TR T2 F&7?

The number of basic variables in a balanced transportation problem with m rows and n columns

is at most

A6 m M 8 n IT AR T3 Af7329 TIF G ST @S 727 F9?

If any of the constraints in the primal problem be a perfect equality, then the corresponding

dual variable of the dual problem is

I% 33 TG (F1F TS THPIT AFNE AF ©RET (G© NN A 5116 [ 2@?
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The statement "intersection of two convex sets is a convex set" ( True/False)

f6 o (TBA (=7 a3 TaeT (576- Af6a o3/ 3y o7 Faa|

If f'(x)=0 or very small, then which method is not applicable ?

W '(x)=0 1 YT Ju 2T ©F AL Tafo G 2

If x=r cos(u), y=r sin(u), then xdy/dt-ydx/dt=?
I x=r cos(u), y=r sin(u), ©R(T xdy/dt-ydx/dt="?

A planet moves in its ellipse so that the line between it and the Sun placed at a focus sweeps out

equal areasin equal times. - What is this know as ?
0 (FIET 97 97 THF TRETSTET ST AT SHIGH STAAIH (5.9 Ao F&- 33
f 2o Afafee?

The Iterative formula for Newton Raphson method is given by

fISEa-THwe Tafod TaAgfe Faft fF ?

The linear function of the variables which is to be maximize or minimize is called
T2 TG @F ACTHF TF GFF 1 AT T (T FI00 3@ OIF [ JET?

If the value of the objective function z can be increased or decreased indefinitely, such solution is called

I AIIF ACHEF N AN S IS 1 FN I ©F SN [F IET?

The feasible solution of an L.P.P. belongs to
AR (ANl ST FIHFT FAEA (F1 @ N ?

The area of the feasible region for constraints x>0, y>1, y<2 is

x>0, y>1, y<2 9% TSUNET FFT AF¥ET Fafe @

In L.P.P which functions are linear?
A (AR T (F1F ACTHHo  G?

A solution which maximize the objective function is called as
R ACRFF 97 (T TN 67 N (W7 O (3 I¢T?

The highest order of polynomial integrand for which Simpson’s 1/3 rule of integration is exact is

ST T 1/3 A (F@ % qMod I27% SNFaP ] AN e J (w7 (61 {3 2
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How much significant digits in this number 204.020050 are there ?

204.020050 N:2fote FIG TNHF T MR ?

Forward difference of a constant function is
(T TP ACTHP 9T ANEH 7

Zero sum game has to be a game.

o5 (W15 A8 RIeT 7T 9% & Hhor

Express Minimize Z as maximize of Z.
O Z (3 599 Z IFIEF TPTT PPA

In graphical method the restriction on number of constraints is

@fSa mfote AT (NN THTE TR (F@ AETENLT NATHe] F6?

Which is used to come up with a solution to the assignment problem?
ST ST ST (F1e T80 TR FATRT?

When ( method) total supply is equal to total demand in a transportation problem, the problem is said
to be
(F1 IR T T TS TAIAR ST GIR9IF T 37 O NG & IE0?

Relative error="7?
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